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1. According to a story in The Wall Street Journal, in April 1996 speculators went long in wheat futures contracts to the tune of 17 million bushels.

(i) Explain the strategy followed by the speculators. What do you think were the speculators' expectations of the spot price of wheat at expiration of the futures contracts?

(ii) With reference to the concepts of normal backwardation and contango, characterize the market conditions for wheat.

(iii) On Wednesday, April 10 1996 the cash price on wheat (KC) was $6.23 per bushel while the futures price for the July 1996 contract was $5.56. Was there an arbitrage opportunity, or what was happening?

2. Using the class handout of prices from the Wall street Journal, draw graphs of the term structure of futures prices (i.e. the futures price as a function of the expiration time) and briefly explain the shape of the term structure for the following commodities


(i) Gold


(ii) Sugar-domestic


(iii) Crude oil


(iv) Wheat

3. On September 26, 2001 the $/Mexican Peso exchange rates in the spot/forward markets were as follows


Spot rate:
0.1051


Nov01

0.10355


Dec01 
0.10275


March02 
0.10005

(i) Which was highest, the US or the Mexican interest rate? Explain the economic reasoning underlying your answer.

(ii) Suppose the US interest rate for deposits invested between September 2001 and March 2002 is 2.5% per annum. Calculate the Mexican interest rate consistent with no arbitrage opportunities in the forward market.

(iii) Now suppose the actual Mexican interest rate is 2%. Explain which transactions you would undertake to make an arbitrage profit. You can assume borrowing and lending rates are identical.

4. Use the class handout on futures prices to answer the following question. 

(i) Compute the convenience yield on crude oil, light sweet between December 2003 and December 2004. You can assume that the storage cost for oil is 1% per annum and the interest rate is 1%.

(ii) What is the economic reason for this convenience yield?

5. Download from the course homepage the dataset on gold and silver spot and futures prices. You can either choose the excel file called goldsilver.xls or the Eviews file called goldsilver.wf1. (In the Eviews file, pgold is the spot price in gold, fgold is the gold futures price and fsilver is the silver futures price.) The gold prices are quoted in US$ per troy ounce, while the silver futures price is quoted in cents per troy ounce. The size of a gold futures contract is 100 troy ounces, while the silver futures contract is for 5000 troy ounces.

You are asked by the chief financial officer of a Jewelry company to study the possibility of hedging future variations in the spot price of gold, a key determinant of the company’s costs. 

(i) Plot the change in the gold spot price against the change in a) the gold futures price and b) the change in the silver futures price in scatter plots. How high are their correlations? (You can attach the plots to this sheet).

(ii) Estimate the hedge ratio if you set up a position in gold futures to hedge against variations in gold spot prices. Based on historical data, how effective is the hedge?

(iii) Now estimate the hedge ratio if you set up a position in silver futures to hedge against variations in gold spot prices. How effective does the hedge appear to be?

(iv) Explain the difference between the results in (ii) and (iii).

(v) The company director wants to hedge the future acquisition of 1500 troy ounces of gold in the spot market. Based on your analysis, demonstrate how to set up a hedge in the gold futures contract, i.e. how many gold futures contracts should the company be long or short?
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